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i. Fundamentally converter is a circnit which

(1) converts ac to d¢ only
(2) converts dc to ac only

(3) converts dc o ac vice versa

(4) converts the frequency change into change

2. In de choppers the wave {orms for input and outpuf voltages arc respectively
(1) discontinuous and coniinuous {Z) continuous and discontinuous
{3) both continucus {4) both discontinuous
3. In 3 phase full converter three SCRs pertaining to one group are fired at an interval of
{15 30 degrees {2} 60 degrees 4
{3) 90 degrees {4y 120 degrees
4, A freewheeling diode is placed across the de load

{1} to prevent reversal of load voltage

{2} to prevent transfer of lvad current away from the sowrce

% 3

j io aliow the current towards source

{3
{(4) io protect the switeh

5. A single phase fully controlicd converier 15 a

1} single quadrant convesier {2) two quadraint converter

o

{4) ali quadrant operated converter

e

{3) four quadrant converter

6. i class AB amplifier the 'ffhvﬂ; for
(1) fully cycle . ; (2) more than half cvele
(4) half cycle
T The -voitage ag_:x,g a;;gqah.m configuration has phase shift of

e s DR

(2) 90 degrees

{4) 270 degrees

o 7 1T
dhy e f!‘-e"phasc difference botwesn iaput and ouiput vollages of an oscillator is

ll 3 180 degrees {2) 360 degrees

{3} 90 degrees {4) 270 degrees

Which of the following cirouit vsed as voltage o frequency converter

e
-

{1} schmitt trigger (2) astable muluvibrator
{21 bistable multivibrator {4) monostable multivibraior

B e e e e S S e it S e S 0 1 S0 e Sk e £ 80 A 52 i b BT



{A.P) ECET QUESTION PAPER - = S i - == e 5 4
18. A reverse biased PN junction has
(1) a very narrow depletion layer
(2) a net hole current
(3) a net electron current
(4) almost zero current
11.  Hall effect can be used to measure
(1) magnetic field intensity (2) electric ficld intensity
(3) hole current (4) carrier concentration
12.  The resistance of a reverse biased diode is
(1) zero ‘ (2) low
(3) negative _ {4) infinite

13.  The base of the hexa decimal number system is

(1)2 : (2) 8
(3) 10 (4) 16
i4. The octal equivalent of the decimal number 568 1s
(1) 1070 | (2) 238
(3) 568 (4) 1000
£5.  Which of the following groups constitute basic 13%661{6&,; o
(1) NOR, NAND S (:2;,:) g}}{ XNOR

(3) AND, OR ) (4,5) AND GR, NOT
16.  The OR gate in positive 1ogi‘§§§§g UiV, -lﬁnﬁt@w%ch of the following gates in negative
(1) AND S (2) OR
(3') NAND .~ (4) NOT
(2) 8
(4) 4
n be operated in one of the modes
- @g;%}%%% ) 4
& 3y @3

19. In 8051 seria! data transfer takes place in one of the following modes
(1) 2 2) 3
(3)4 (4) 1
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20, he vectored address of a serial interrapt 1s
{]}’{}3 (2)0013H
(30023 H {4) 0008 H
21. A8 pole lap wound dc generator 1:, supplying 295 A to load . The field curvent of the generator 18
5A. The current per parallel paih
(Z)BUOA (2} 375A
(3) 150 A : (4) 100 A

22,  If the field circuit resistance of a dc shunt gu.u‘*&tor exceeds 1ts critical value, the generator

(1) fails to build up builds up very high veitage
(3} exceed its current capacity {4} produces hign power
23.  The feld winging of a seif exited dc generaior i exciled by
{1) dc _ (2} ac :
(3) both by de¢ and ac {4} its own current M

24, The voliage regulation of a de generator 18 geod at full lo
{1} shumt connected (2 diffe
{3) cumulatively compounded (4} series

28,  if the su r;n'" voltage to de machine 1s 230 volis. then the batk emt for maximum power

g
[

=pends 1y

(2) a}jf;ﬁ*éd voltage

{ﬂ} back emf and flix

ito 1 ff.§ volt% dc S?‘j"ﬁl\x

(’/' GO0 mm

\

4y 1200 rpm

eg’éﬁf}pc 2 quL.c of 20 Nm at % A load current. If the current is Increased to

20 Nm
{4} 40 Nm

{2} the power level
(3) the power factor : {4} the frequency

30.  Trunsformer action requires

{ 1) consfant magnetic tlux {2} increasing magnetic flux
{3} alternation flux {4} alternating electric flux
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3%, Full load voltage regulation of transformer is zero when the power factor of load is near

(1} unity and leading (2) zero and leading

(3) zero and lagging (4) unitv and lagging
32. In the transformer circuit mode the core loss is represenied as

{1) series resistance (2) series inductance

(3) shunt resisiance (4) shunt inductance

33.  When the load varies on the secondary side of transformer one of inllowing value will follow the
variation of loud
(1) core flux
{2) copper losses
(3) iron losses
{4) magnetization comprmeﬁt of no load current

34,  (pen circuit test on a transformer 15 ,.f:“fonm,d with
1

(1) rated voltage _ (2) rated current

(3} direct current (4} E“igh ﬁe-\luemv supply

{1) back to back test (A ) open circu
(3) short circuit tost (4) high frequency.

36.  The number of poles 1 turbo alternator is s
(i) 2

{}8

3L
(I) in_creasing (2). dbCICaslﬂ“
;ﬂ constant w{ﬁf) oscillating in nature
(’) ZPF method _ (2) MMF methed
(3) EMF nla‘gi}bci =" (4) ASA method

s

29, The drmamfé i;.q; ”‘mwof a synchronous motor on no load
(1) 1@&(}9 the dﬁﬁze@ w!!age by 90 degrees
§2) l&g%ehm@fhp applied voltage by 90 degrees

- '33’2,1@@ 3 «%ﬁ]aSr, with applied voltage

. =

4) zero

S

“In a synchronous motor damper windings are used o

ke (1) help in starting
(2) run it as an induction motor
(3) help in starting as a motor and to reduce hunting

(4) increase efficiency
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41.  If the field of a synchronous motor is under-excited the power factor will be
(1) lagging ' (2) leading
(3} unity (4) more than unity
42.  The rotor of a 3 phase wound rotor induction motor is provided with
(1) single phase winding . (2) three phase winding
(3) copper bars placed in rotor slots (4) short circuit end rings

43.  In an induction motor if the air gap is increased

(1) its speed will reduce | (2) its efficiency will improve

(3) its power factor will reduce (4) its break down torque will reduce i
44.  The operation of induction motor is based on "

(1, lenz's law (2) amperes law

(3) principle of mutual induction (4) principle of self induction

45.  The supply voltage of an induction motor is reduced by 10%. By what peiccntagessgp rox1mateiy
will the maximum torque decrease - sriom. :

_—
ekl
——
2]
)
s
o

(2) 19%

(3) 20% (4) 40%

46. In dol Ul» rnohmg ﬁt;d thoory of smgle phd«-e mduct:on‘moto
is 8"

47.

(1)5Hz g (2) 5 Hz 55 Hz
(4) 55 Hz 95 H

48. Ina mong C@l‘i’?dnlm{ﬂ'e” the scale on the dial 1s

L

1) eramped at ’ﬂ’ié fifegmmng (2) cramped at the end
ﬁ%é;?gg cr impea in thc middle {(+) uniform throughout

i S
49, e{ijampmrr torque in instrument is not generally produced
2 - &.-éé')?

=1 pncun1qlically (2) electro magnetically

(3) electro sta.ticaily {4) by fluid action
In flux meters the following method is used for deflecting torque
(1) magnetic effect (2) heating effect

(3) induction cffect {4) hall effect

i,
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51. 132 kV AC can be measured by

{1) moving iron typé voltmeter (2) moving coll type voltmeter

(3) electrostatic type voltmeter (4) induction type voltmeter

82. In a 3 phase system the voltages are

(1) 30 degrees apart {2) 40 degrees apart
(3).90 degrees apart {(4) 120 degrees apart

53.  In the measurement of 3 phase power by two watt meter method, if the two wattmeter reading
are equal and positive, the power factor of the circuit is ' '

(1) 0.8 lagging o (2) 0.8 leading
(3} zero (4) unity
54. A series RLC circuit draws current 2t leading power factor at

{1} resonant frequency (2) below resonant frequency L

(3) above resonant frequency (4) at ali frequencies

£5. In an AC circuit the current and voltages are out phase by 90 degrees. The ctmmeﬁer ILEldS
and voltmeter rends 1000 V The power consumed is b

(1) 200 w ' (2) 1000 w

(3) 500 w (4 zerc

56. A low power factor of the circuit means that it wiil o
(1) draw more active power

{3) draw more reactive power 10 the circult

57.  Thevenin's veltage of a circuit is (.Qlk}t 1.0
(2) _bupply voltagc
{3) out put voliage b
¢ 4) voltage a01‘0,s§’~\any‘ networ]%z'-
58. 1 star. The equivalent resistance in delta
Lonnecmﬁn is ww gtgé
o ng;mjjw
) Riges ™ 5 "5 (2) 3R
& GRS, (4) 9R
I35 s ’“‘“iffmm‘ﬁl ‘inductance between two unity coupled coils of 9H is
il %’9-«3*”{4.. (2)2H
S i i
> 13)36H (4)6 H

60, Two electric lamps 50 w, 250 V each are connected in series across 250 V supply. The power
consumed by the combinauon is
(1) 25 w (2) 50 w

{3) 190 w (4) 250 w
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64.

66.

69.

Which of the following material has highest dieleciric strength
(Y)air (2) mica
(3) paper (4) glass

If the three capacitors of SF, 10F and 15F are connected in parallel across a supply mains, the
equivalent capacitance is

(I)SF (2)10F

(3) 15F (4) 30 F

The electrodes are completely immersed in

(1) paste {2) electron light
(3) electrolyte {4) pure water
Steam is generated in

(1) boiler (2) condenser
(3) economiser (4) super heater

Reheat cycle in steam power plant 1s used to .

(1) utilize heat of fuel gasses

(3} improve condenser performance

stea m tarbine and condenser
in hydel power pla.-;: the avea behind the dam is called
(1} catchment arca
{3} surge tank

(1) equal to unity = (2) less than unity

(3) more than unity (4) zero

The preferred relay for the protection of medium transmission line is

(1) directior;}aﬁé’ﬁiy (2) buchholz relay
(3) 111]pedance«re!’w (4) reactance relay

(2) gas pressure

{41 electro static induction

(2) spiral

\3) elliptical (4) square

Which of the following faults is termed as symmetrical fault
(1) single phase to ground (2} line to line

{3 double line to ground (4) three phase short circuit

= = . e = T e Sz = 3 = Simammm

i T o T i S 2 Do S TR e S T = =



(A.P) ECET QUESTION PAPER | = = _ - 187

73. Directional over current relay is used for the protection of

(1) long line : (2) transformer

(3) ring main distributor (4) radial distributor line -
74.  Which of the following motor is used in traction

(1) DC shunt motor (2) DC series motor

(3) AC 3 phase miotor ~ (4) AC single phase capacitor start motor
75.  For 25 kV single phase traction system power supply frequency is

(1) 50 Hz ' (2) 120 Hz

(3) 62 Hz _ (4) 25 Hz
76. Quadrilateral speed-time curve pertains to which of the following services

(1) main line service (2) urban service

(3) sub-urban service _ (4) urban and sub-urban service

77. Longer coasting period for a train results in

{1) higher acceleration - (2) higher retardation

(3) low specific energy consumption (4) higher scheduled speeﬁj
78.  For train lighting the generator used is R

(1) series ; (2) shunt _

(3) rosenberg 4) synchronagy -

79. The total cnergy input per tonne kilometer of hc train is Lajled ag&
(1) energy consumption e

{(3) coefficient of adhesion

80. In overhead construction of railway '

W(Z) short wire
(4) span wire

(1) catenary wire
(3) long wire

81. The variation oivoltage in trcﬁly wire is minimized by

(1) voltc.s__,e ampl;,ﬁer i (2) booster
( 3) currcnt anq%‘hﬁcriEs (4) feeder
82. . ;Wh*eh‘of the foli%;l@mg accessory is used to make or break a electrical circuit.
| ; w;((;[) hcﬁen el (2) switch )
2% w@%’“’(ﬁ?j ﬁ;se : {(4) socket !

vm‘,

-;;;,Wﬁﬁ w:ln m(,dnd =scent lamps the filament is made of

R ﬁ;

g (1) gold (2) silver
. (3) tungsten (4) iron

84. The transformer should be located at
(1) town centre (2) at the end of the town

(3) load centre | (4) any where
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In a 3-pin socket the bigger terminal is connected to

{1} switch ' (2) phase

(3} earth (4} neutral

The capacitive effect is negligible in following type of transmission line
(1) short lines © (2) medium lines

(3} both short and medium lines (4) long lines

For a given transmission line with the leading power factor load the voltage regulation is

(1) positive (2) negative

(3) zero | (4) unity

The process of achieving uniformity in the dielectric stress in the cables
(1) capacitive grading (2) intersheath grading
(3) core grading {4) grading

The minimum j voltage at which corona occurs is called

{13 visual critical voltage (2) critical disruptive voltage
{3) corona voltage {4) skin voltage

he string efficiency of the insulators can be mereased by

{1} guard band {(2) guard ring
(3) guard sheet (4) increasing Hm

Phe surge impedance of 100 Km long underground cabl
s

g 4{}'
surge impedance will be

50 Ohl'ﬂb

100 ohms _ 1MS
The reactance of a generator is given @3% 1 pei mﬁl at e'baac voitage of 20 kV and 400 MVA.
The per unit value of the re eactance Olﬁﬁe base 011:‘30 kV and 100 MVA is

u' 100 kV , M (2) 220 kY
3 22k -iﬁf%& o (4) 66 kV

JE hf‘ réﬂecﬁrm .

i ,%%,

fticient of an open circuited transmission linge is

) 1.0 (2) 0.5

2'>-v¢f‘>$¢§

Sl2a" (4} zero

W vich device automatically interrupts the supply in the event of severs fault
/11 earthing switch {2) series reactor

(3) isolator (4) circuit breaker

The number of P-N junctions it a thyristor is
{13 1 (2) 2
{3y 2 (4) 4
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Which one of the following is a bidirectional controlled switch

(1) thyristor (2) triac

(3) GTO _ (4) diac

Once SCR starts conducting a forward current its gate looses control over
(1) anode voltage only (2) anode current only

(3) anode voltage and current (4) anode voltage and time

In a thyristor anode current is made up of .
(1) electrons only (2) eletrons or holes
(3) electrons and holes (4) holes only

An uncontrolled rectifier implies a rectifier

(1) in which all elements are thyristors

(2) in which all elements are diodes

(3) in which all elements are both thyristors and diodes

(4) in which all elements are resistances
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D3| 2| N4 4| 52! &2t D3| 2| 92 |10) 4

[

4 | 12)4 | 13)4 | 141|154 | 161 | 1T)4 | 182 | 19 20) 3

lad

21) 2 | 22) 1 [ 23)4 1 24)3 2512604 | 27)4 | 28)3 | 291 | 30

3) 1 1 32)3 133)2 | 34)1 1351|361 3792 | 38)3 391 |40) 3

Cad
=
ain]
Lo

aly1 | 42)2 | 43)3 |43 [ 453 | 46)3 | 47)3 | 48) 4 | 49

51) 1 | 52) 4 | 53) 4 | 54) 2 | 55) 4

B

61} 4 | 62) 4 | 63) 3 64) 1 65)

81) 2 | 82

I
91 2 92}

193 |93 | 98)3 | 993 100) 2
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